A G E N D A WORK SESSION City of Moberly March 16, 2020 6:00 PM

Requests, Ordinances, and Miscellaneous

- 1. Morley Pump Station and Force Main Extension Facility Plan Proposal for Engineering Services
- 2. Receipt of bids for Morley St. Sidewalk project.
- <u>3.</u> Receipt of bids for Street Improvements (Reclamite and Restorative).
- <u>4.</u> A Resolution repealing R863 and passing a new resolution related to the purchase of patrol vehicles for the Police Department
- 5. Discussion of water meter technology and automated reading equipment availability and costs.
- <u>6.</u> Receipt of bids for pickup for Water D&C.

City of Moberly City Council Agenda Summary

Agenda Item:	Morley Pump Station and Force Main Extension Facility Plan Proposal for Engineering Services
Summary:	The facility plan will utilize information developed in the City of Moberly Wastewater Facilities Improvement Preliminary Engineering Report (PER), and add additional information required for SRF loan application and other potential funding sources.
	Direct Staff to develop a resolution for adoption at the next regular Council Meeting.
Fund Name:	Capital Improvement Sales Tax Fund
Account Number:	304.000.5408
Available Budget \$:	

ATTACHMENTS:		Roll Call	Ауе	Nay
Memo Staff Report Correspondence Bid Tabulation	Council Minutes Proposed Ordinance X Proposed Resolution Attorney's Report	Mayor M S Jeffrey Council Member		
P/C Recommendation P/C Minutes Application Citizen Consultant Report	Petition Contract Budget Amendment Legal Notice Other	M S Brubaker M S Kimmons M S Davis M SKyser	 Passed	Failed

Jacobs

Stifel Tower 501 North Broadway St. Louis, Missouri 63102 United States T +1.314.335.4000 F +1.314.335.5104 F +1.314.335.5141 www.jacobs.com

February 27, 2020

Mary West-Calcagno Director of Utilities City of Moberly 101 West Reed Street Moberly, MO 65270

Subject: Morley Pump Station and Force Main Extension Facility Plan Proposal for Engineering Services

Dear Mary

Jacobs Engineering Group, Inc. (Jacobs) is pleased to present our proposal to provide the City of Moberly (City) with Professional Engineering Services to prepare a Facility Plan for the Morley Street Pump Station and Force Main Extension to accompany funding applications. This Facility Plan will utilize information developed in the City of Moberly Wastewater Facilities Improvement Preliminary Engineering Report (PER), and add additional information required for SRF loan application and other potential funding sources.

SCOPE

- **Facility Plan Preparation** Jacobs will perform the following tasks to prepare the Facility Plan:
 - 1. **Introduction** Provide basic information for the City of Moberly using existing reports.
 - 2. Location and Population Prepare maps showing locations of Moberly and pertinent facilities.
 - 3. **Existing Facilities** Utilize existing reports to outline pertinent facilities and capacities.
 - 4. **Description of Need** Develop a description of the need for the facility.
 - 5. **Design Criteria** Describe design criteria including:
 - Design Period 20 years, from existing reports
 - Hydraulic and Organic Load Projections from existing reports, taking into account potential flows from Project Emerald
 - I/I Analysis and Evaluation use info from NW sewer study as applicable
 - Anti-degradation (AD) Review explanation that AD review is not needed
 - 6. **Alternative Evaluation with Economic Analysis** Evaluation of two alternatives:
 - Convert lift station to a submersible lift station Develop scope and cost estimate.



February 27, 2020 Proposal for Engineering Services

- Replace existing pumps and modify piping between wet pit and dry pit Develop conceptual scope and cost estimate.
- Both alternatives will include force main extension Develop scope and cost estimate, including evaluation of capacity of existing sewers downstream of new connection point.
- 7. **Recommended Alternative** Describe recommended alternative, including economic and environmental considerations.
- Facility Plan Finalization Jacobs will perform the following tasks to finalize the Facility Plan:
 - 1. Submit the requested number of copies of the draft report to the City for review, not to exceed 5 copies.
 - 2. Conduct a report review meeting via telephone to review the report and capture comments from the City.
 - 3. Based on the report review meeting, finalize the report. Submit the requested number of copies of the final report to the City, not to exceed 5 copies.
 - 4. Sign and Seal approved report for submittal to MDNR
- **Preparation of Environmental Clearance Letters** Jacobs will prepare and submit Environmental Clearance requests to the following agencies as required for SRF application:
 - 1. Army Corps of Engineers
 - 2. Department of Natural Resources, Historic Preservation
 - 3. Department of Conservation
 - 4. United States Fish and Wildlife
 - 5. Department of Natural Resources, Geological Survey
 - 6. Federal Assistance Clearinghouse
 - 7. Division of State Parks
- Address comments from MDNR– Jacobs will address review comments that do not require a significant scope change or additional study. Examples of comments that will need additional funds to address include (but are not limited to) rerouting of gravity sewer or force mains, relocation of the pump station, additional hydraulic analysis of the existing system, etc.

FEE PROPOSAL

Our proposed fee the work described herein is a lump sum cost of \$24,828. This fee includes only those services outlined in our proposal. Additional services can be provided if requested by the City.

SCHEDULE

If the City agrees with this approach, we would provide a schedule upon notice of acceptance of our proposal.

ASSUMPTIONS / CLARIFICATIONS:

This proposal is based on the following assumptions and clarifications:



February 27, 2020 Proposal for Engineering Services

- 1. Flow monitoring of existing wastewater facilities and sewerage systems is not included.
- 2. Any additional studies or reexamination of alternatives required for clearance from state and federal agencies is not included in this scope and will require a change order.
- 3. Wetlands delineation and wetlands permitting services are not included in Jacobs' scope.
- 4. Additional work created by funding sources is not included in Jacobs' scope.
- 5. No stream sampling or water quality testing is included in Jacobs' scope.
- 6. Public meeting attendance and preparation is not included in Jacobs' scope.
- 7. The Environmental review under this scope only includes preparing and submitting clearance letters to the agencies listed. Jacobs's scope does not include any additional efforts that may be necessary for a CATEX or FONSI determination at the discretion of MDNR.
- 8. All review and other meetings will be done remotely; no travel expenses are included.

This work will be performed as a modification to our existing contract with the City of Moberly, dated January 3, 2001. We will endeavor to be as efficient as we can in performing the work, to minimize costs.

If you agree, please sign both copies of this letter and return one copy to us at your convenience.

Very truly yours,

Jacobs Engineering Group, Inc.

Tobin Lichti, P.E. Project Manager 314.335.4550 tobin.lichti@jacobs.com

Authorization to Proceed:

City of Moberly

Jacobs Engineering Group, Inc.

Ву	Ву
Title	Title
Date	Date

Agenda Item:	Receipt of bids for Morley St. Sidewalk project.
Summary:	These are the bids for the sidewalk replacement/construction along the West side of Morley from Coates to Hwy 24 and along the South side of Hwy 24 from Morley to the East Outer road. This bid includes moving several water customers off of the 2" water line on the West side that is continually failing and undersized to the large line on the East side of Morley.
	The total construction cost for this project is \$1,274,320.22. Utilities will be paying for their portion of the work \$195,509.82, leaving \$1,078,810.40 as the public works portion from the Transportation Trust fund. We have \$936,471.38 in outside funding from the STP-U funding and the cost share funding.
	Staff recommends approval of this.
Recommended Action:	Direct staff to bring forward to the regular City Council meeting on April 6, 2020 for final approval.
Fund Name:	N/A
Account Number:	N/A
Available Budget \$:	N/A

ATTACHI	MENTS:				Roll Call	Aye	Nay
Me	mo _	Council Minutes	May	or			
Sta	iff Report	Proposed Ordinance	M	S	Jeffrey		
	rrespondence	Proposed Resolution					
<u>x</u> Bid	Tabulation	Attorney's Report	Cou	ncil M	ember		
P/C	Recommendation	Petition	M	_ S_	Brubaker		
P/C	Minutes	Contract	M	_ S_	Kimmons		
App	olication	Budget Amendment	M	_ S_	Davis		
Citi	zen _	Legal Notice	M	_ S_	Kyser		
Col	nsultant Report	Other				Passed	Failed



Bid Tabulation

Date:January 23, 2020Bartlett & West Project No.:18943.000

Moberly, MO

STP-4500(207) Morley Street Sidewalk Improvements STIP 2P3220

Item No.	Description	Quantity	Unit	Engine	er's Estimate	S & A Equipr	nent + Builders	Rhad A Ba	ker Construction	Stockman	Construction	Don Schnie	ders Excavating
				Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
	Participating Bid Items - BASE BID A												
202-20.10	Removal of Improvements	1	LS	50,000.00	\$50,000.00	67,565.33	\$67,565.33	100,000.00	\$100,000.00	130,000.00	\$130,000.00	131,141.00	\$131,141.00
203-99.01	Earthwork	1	LS	45,000.00	\$45,000.00	14,340.58	\$14,340.58	75,000.00	\$75,000.00	150,000.00	\$150,000.00	70,020.00	\$70,020.00
304-05.04	Type 5 Aggregate for Base (4 in. Thick)	188	SY	8.00	\$1,504.00	17.79	\$3,344.52	20.00	\$3,760.00	11.00	\$2,068.00	29.96	\$5,632.48
608-10.12	Truncated Domes	542	SF	25.00	\$13,550.00	64.15	\$34,769.30	35.00	\$18,970.00	19.00	\$10,298.00	17.49	\$9,479.58
608-50.07	Paved Approach (7" Thick)	90	SY	55.00	\$4,950.00	258.27	\$23,244.30	150.00	\$13,500.00	69.00	\$6,210.00	179.40	\$16,146.00
608-50.08	Paved Approach (8" Thick)	5,441	SY	60.00	\$326,460.00	72.82	\$396,213.62	70.00	\$380,870.00	69.00	\$375,429.00	85.51	\$465,259.91
608-30.03	3 in. Concrete Median Strip	141	SY	40.00	\$5,640.00	153.69	\$21,670.29	90.00	\$12,690.00	78.00	\$10,998.00	79.38	\$11,192.58
608-40.23	Sidewalk Hand-Railing	73	LF	100.00	\$7,300.00	112.13	\$8,185.49	75.00	\$5,475.00	95.00	\$6,935.00	102.75	\$7,500.75
608-99.05	Paved Approach (8" Thick High Early Strength)	315	SY	85.00	\$26,775.00	84.49	\$26,614.35	95.00	\$29,925.00	88.00	\$27,720.00	92.05	\$28,995.75
608-99.25	Concrete Sidewalk and Ramps	4,677	SY	50.00	\$233,850.00	55.81	\$261,023.37	50.00	\$233,850.00	54.00	\$252,558.00	75.76	\$354,329.52
609-10.11	Concrete Curb (Over 6 in Height) Type S	151	LF	30.00	\$4,530.00	39.50	\$5,964.50	75.00	\$11,325.00	50.00	\$7,550.00	45.74	\$6,906.74
609-10.52	Curb and Gutter Type B	562	LF	30.00	\$16,860.00	76.07	\$42,751.34	40.00	\$22,480.00	40.00	\$22,480.00	42.94	\$24,132.28
609-99.01	Concrete Sidewalk Trench Cover	72	SF	200.00	\$14,400.00	34.91	\$2,513.52	50.00	\$3,600.00	275.00	\$19,800.00	152.36	\$10,969.92
616-10.05	Construction Signs	271	SF	20.00	\$5,420.00	11.38	\$3,083.98	75.00	\$20,325.00	10.30	\$2,791.30	13.87	\$3,758.77
616-10.28	Channelizers	135	EA	25.00	\$3,375.00	25.05	\$3,381.75	30.00	\$4,050.00	15.60	\$2,106.00	19.11	\$2,579.85
616-10.30	Type III Moveable Barricade	6	EA	175.00	\$1,050.00	153.69	\$922.14	150.00	\$900.00	112.00	\$672.00	110.00	\$660.00
616-10.31	Type III Moveable Barricade with Light	6	EA	200.00	\$1,200.00	221.99	\$1,331.94	225.00	\$1,350.00	230.00	\$1,380.00	198.00	\$1,188.00
616-10.40	Flashing Arrow Panel	3	EA	1,500.00	\$4,500.00	1,366.11	\$4,098.33	1,400.00	\$4,200.00	1,780.00	\$5,340.00	1,760.00	\$5,280.00
618-10.00	Mobilization	1	LS	60,000.00	\$60,000.00	22,199.22	\$22,199.22	120,000.00	\$120,000.00	30,000.00	\$30,000.00	82,000.00	\$82,000.00
620-00.03	Preformed Thermoplastic Pavement Marking, 4 in White	60	LF	2.00	\$120.00	4.94	\$296.40	5.00	\$300.00	10.30	\$618.00	5.00	\$300.00
620-00.09	Preformed Thermoplastic Pavement Marking, 6 in White	1,739	LF	2.00	\$3,478.00	7.40	\$12,868.60	6.75	\$11,738.25	6.20	\$10,781.80	7.18	\$12,486.02
620-00.12	Preformed Thermoplastic Pavement Marking, 12 in White	116	LF	2.00	\$232.00	14.80	\$1,716.80	14.00	\$1,624.00	31.00	\$3,596.00	14.66	\$1,700.56
620-00.21	Preformed Thermoplastic Pavement Marking, Left/Right Arrow	5	EA	450.00	\$2,250.00	398.45	\$1,992.25	375.00	\$1,875.00	361.00	\$1,805.00	400.00	\$2,000.00
620-00.24	Preformed Thermoplastic Pavement Marking, Straight Arrow	2	EA	350.00	\$700.00	341.53	\$683.06	400.00	\$800.00	361.00	\$722.00	350.00	\$700.00
627-40.00	Contractor Furnished Surveying and Staking	1	LS	35,000.00	\$35,000.00	11,384.22	\$11,384.22	40,000.00	\$40,000.00	18,000.00	\$18,000.00	14,000.00	\$14,000.00
726-99.02	15 in HDPE Pipe	12	LF	65.00	\$780.00	152.98	\$1,835.76	100.00	\$1,200.00	52.00	\$624.00	110.00	\$1,320.00
726-99.03	15 in CMP End Section	2	EA	600.00	\$1,200.00	810.84	\$1,621.68	400.00	\$800.00	240.00	\$480.00	207.00	\$414.00
805-10.00A	Seeding - Cool Season Mixture	1	AC	5,000.00	\$5,000.00	6,659.77	\$6,659.77	5,850.00	\$5,850.00	10,000.00	\$10,000.00	3,850.00	\$3,850.00
805-20.00A	Seeding - Warm Season Mixture	1	AC	5,000.00	\$5,000.00	6,659.77	\$6,659.77	5,850.00	\$5,850.00	10,000.00	\$10,000.00	4,290.00	\$4,290.00
806-10.07A	Curb Inlet Check	37	EA	150.00	\$5,550.00	187.84	\$6,950.08	165.00	\$6,105.00	185.00	\$6,845.00	132.00	\$4,884.00
806-10.19	Silt Fence	1,100	LF	5.00	\$5,500.00	3.19	\$3,509.00	3.00	\$3,300.00	4.00	\$4,400.00	5.40	\$5,940.00
806-10.05	DITCH CHECK	24	LF	25.00	\$600.00	18.78	\$450.72	17.00	\$408.00	22.00	\$528.00	47.00	\$1,128.00
902-08.33	flat sheet sign	28	SF	45.00	\$1,260.00	56.92	\$1,593.76	50.00	\$1,400.00	53.20	\$1,489.60	55.00	\$1,540.00
902-08.34	signal sign mounting hardware	10	EA	250.00	\$2,500.00	204.92	\$2,049.20	180.00	\$1,800.00	191.50	\$1,915.00	198.00	\$1,980.00
902.27-08	post, signal 8 ft.	6	EA	1,000.00	\$6,000.00	865.20	\$5,191.20	760.00	\$4,560.00	808.00	\$4,848.00	836.00	\$5,016.00
902.49-20	detector, pushbutton (new installation)	6	EA	200.00	\$1,200.00	314.20	\$1,885.20	276.00	\$1,656.00	294.00	\$1,764.00	304.00	\$1,824.00
902.49-44	detector, vehicle induction loop (2 channel)	1	EA	300.00	\$300.00	142.30	\$142.30	125.00	\$125.00	133.00	\$133.00	250.00	\$250.00
902.08-11	Signal head, 1S, Pedestrian	6	EA	650.00	\$3,900.00	801.45	\$4,808.70	704.00	\$4,224.00	750.00	\$4,500.00		\$4,650.00
902.99.02	Install Signal Heads Provided by Others	4	EA	1,000.00	\$4,000.00	437.15	\$1,748.60	384.00	\$1,536.00	408.00	\$1,632.00		\$1,688.00
902.50-20	conduit, 1 in., loop detector	11	LF	7.00	\$77.00	11.38	\$125.18	10.00	\$110.00	10.65	\$117.15		\$220.00
902.53-00	conduit, 3 in., trenched	101	LF	12.00	\$1,212.00	13.66	\$1,379.66	12.00	\$1,212.00	12.75	\$1,287.75	13.20	\$1,333.20
902.73-00	conduit, 3 in., pushed	173	LF	30.00	\$5,190.00	27.32	\$4,726.36	24.00	\$4,152.00	25.50	\$4,411.50	26.40	\$4,567.20
902.83-08	cable, 16 awg 2 conductor	1,170	LF	1.00	\$1,170.00	1.14	\$1,333.80	1.00	\$1,170.00	1.06	\$1,240.20	1.10	\$1,287.00
902.83-10	cable, 16 awg 5 conductor	1,170	LF	1.30	\$1,521.00	1.31	\$1,532.70	1.15	\$1,345.50	1.22	\$1,427.40	1.27	\$1,485.90
902.83-11	cable, 16 awg 7 conductor	1,370	LF	1.50	\$2,055.00	1.42	\$1,945.40	1.25	\$1,712.50	1.33	\$1,822.10	1.37	\$1,876.90
902.85-00	cable, loop detector, in duct	310	LF	7.00	\$2,170.00	6.83	\$2,117.30	6.00	\$1,860.00	6.35	\$1,968.50		\$2,046.00
902.85-10	cable, loop detector, lead-in	200	LF	3.00	\$600.00	1.71	\$342.00	1.50	\$300.00	1.60	\$320.00	2.00	\$400.00
902.99-03	video cable	650	LF	2.00	\$1,300.00	2.05	\$1,332.50	1.80	\$1,170.00	1.90	\$1,235.00		\$1,300.00
902.88-10	pull box, preformed class 1	1	EA	1,100.00	\$1,100.00	1,202.17	\$1,202.17	1,056.00	\$1,056.00	1,225.00	\$1,225.00	1,160.00	\$1,160.00
902.88-11	pull box, preformed class 2	2	CY	1,300.00	\$2,600.00	1,536.87	\$3,073.74	1,350.00	\$2,700.00	1,440.00	\$2,880.00	1,485.00	\$2,970.00
902.91-00	base, concrete	2.7	CY	1,500.00	\$4,050.00	3,187.58	\$8,606.47	2,800.00	\$7,560.00	2,950.00	\$7,965.00	3,080.00	\$8,316.00

Item No.	Description	Quantity	Unit	Engineer	's Estimate	S & A Equip	ment + Builders	Rhad A Bak	er Construction	Stockman	Construction	Don Schnied	lers Excavating
				Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
	Participating Bid Items - BASE BID A To	otal	T	·	\$933,979.00		\$1,044,982.22		\$1,181,769.25		\$1,174,916.30		\$1,334,095.91
	Non-Participating Bid Items - BASE BID B												
603-99.02A	Service Line - 1 in HDPE	951	LF	12.00	\$11,412.00	21.50	\$20,446.50	30.00	\$28,530.00	10.50	\$9,985.50	24.43	\$23,232.93
603-99.02B	Service Line - 1 in Copper	18	LF	20.00	\$360.00	434.23	\$7,816.14	15.00	\$270.00	65.50	\$1,179.00	282.65	\$5,087.70
603-99.02C	Service Line - 2 in HDPE	247	LF	20.00	\$4,940.00	25.06	\$6,189.82	10.00	\$2,470.00	37.10	\$9,163.70	55.94	\$13,817.18
603-99.02D	3 in HDPE Bored Crossing	951	LF	60.00	\$57,060.00	42.69	\$40,598.19	35.00	\$33,285.00	44.40	\$42,224.40	49.16	\$46,751.16
603-99.02E	4 in HDPE Bored Crossing	367	LF	75.00	\$27,525.00	54.08	\$19,847.36	45.00	\$16,515.00	61.65	\$22,625.55	65.92	\$24,192.64
603-99.02F	12 in HDPE Bored Crossing	80	LF	275.00	\$22,000.00	147.99	\$11,839.20	200.00	\$16,000.00	168.50	\$13,480.00	201.50	\$16,120.00
603-99.02G	Water Meter Pit Assembly - 1 in Meter	1	EA	2,500.00	\$2,500.00	6,186.96	\$6,186.96	4,500.00	\$4,500.00	1,287.00	\$1,287.00	2,265.00	\$2,265.00
603-99.02H	Water Meter Pit Assembly - 2 in Meter	2	EA	3,500.00	\$7,000.00	3,736.07	\$7,472.14	5,800.00	\$11,600.00	2,965.00	\$5,930.00	2,465.00	\$4,930.00
603-99.021	Water Valve - 6 in	4	EA	1,200.00	\$4,800.00	2,598.22	\$10,392.88	1,200.00	\$4,800.00	1,586.00	\$6,344.00	1,899.45	\$7,597.80
603-99.02J 603-99.02K	Water Valve - 8 in Remove existing fire hydrant	1	EA EA	1,400.00 750.00	\$1,400.00 \$750.00	6,186.96 2,850.93	\$6,186.96 \$2,850.93	1,600.00 1,000.00	\$1,600.00 \$1,000.00	1,700.00 890.00	\$1,700.00 \$890.00	2,611.00 1,500.00	\$2,611.00 \$1,500.00
603-99.02K	Fire hydrant assembly (includes 6 in valve and stub of 6 in pipe		EA	3,850.00	\$26,950.00	3,683.90	\$2,830.93	4,000.00	\$1,000.00	6,921.00	\$48,447.00	6,196.34	\$43,374.38
603-99.02L	Water Main 6 in PVC	180	LF	65.00	\$20,950.00	27.63	\$4,973.40	25.00	\$4,500.00	74.00	\$13,320.00	74.11	\$13,339.80
603-99.02N	Water Main 8 in PVC	25	LF	75.00	\$1,875.00	198.16	\$4,954.00	75.00	\$1,875.00	111.00	\$2,775.00	117.89	\$2,947.25
603-99.02O	Cut and cap 2 in main	8	EA	500.00	\$4,000.00	903.79	\$7,230.32	100.00	\$800.00	814.00	\$6,512.00	1,000.00	\$8,000.00
603-99.02P	Connect To Existing Water Main	3	EA	750.00	\$2,250.00	853.82	\$2,561.46	500.00	\$1,500.00	3,450.00	\$10,350.00	3,248.34	\$9,745.02
603-99.02Q	Sidewalk/Pavement repairs	178	SY	80.00	\$14,240.00	57.17	\$10,176.26	25.00	\$4,450.00	120.00	\$21,360.00	107.94	\$19,213.32
	Non-Participating Bid Items - BASE BID B	Total			\$200,762.00		\$195,509.82		\$161,695.00		\$217,573.15		\$244,725.18
	BASE BID A + BASE BID B TOTAL				\$1,134,741.00		\$1,240,492.04		\$1,343,464.25		\$1,392,489.45		\$1,578,821.09
	Add Alternate A - Median replacement at Hwy 24 & Bu	1											
603-99.01	3 in Decorative Concrete Median Pavement	461	SY	40.00	\$18,440.00	73.38	\$33,828.18	75.00	\$34,575.00	87.00	\$40,107.00	67.08	\$30,923.88
	Add Alternate A Bid Items Total				\$18,440.00		\$33,828.18		\$34,575.00		\$40,107.00		\$30,923.88
	BASE BID + ALT A TOTAL CONSTRUCTION COST				\$1,153,181.00		\$1,274,320.22		\$1,378,039.25		\$1,432,596.45		\$1,609,744.97
	BASE BID FALLA TOTAL CONSTRUCTION COST				\$1,135,101.00		φ1,27 4 ,520.22		φ1,570,055.25		φ1,452,550.45		\$1,005,744.57
	Add Alternate B - Pedestrian Signals at Hwy 63 South	bound Ra	mp										
902-08.33	flat sheet sign	17	SF	45.00	\$765.00	56.92	\$967.64	50.00	\$850.00	53.20	\$904.40	55.00	\$935.00
902-08.34	signal sign mounting hardware	3	EA	250.00	\$750.00	204.92	\$614.76	180.00	\$540.00	191.50	\$574.50	200.00	\$600.00
902.27-08	post, signal 8 ft.	2	EA	1,000.00	\$2,000.00	865.20	\$1,730.40	760.00	\$1,520.00	808.00	\$1,616.00	836.00	\$1,672.00
902.49-20	detector, pushbutton (new installation)	2	EA	200.00	\$400.00	142.30	\$284.60	125.00	\$250.00	133.00	\$266.00	175.00	\$350.00
902.08-11	Signal head, 1S, Pedestrian	2	EA	650.00	\$1,300.00	801.45	\$1,602.90	704.00	\$1,408.00	750.00	\$1,500.00	775.00	\$1,550.00
902.99.02	Install Signal Heads Provided by Others	1	LF	1,000.00	\$1,000.00	437.15	\$437.15	384.00	\$384.00	408.00	\$408.00	422.00	\$422.00
902.53-00	conduit, 3 in., trenched	72	LF	12.00	\$864.00	13.66	\$983.52	12.00	\$864.00	12.80	\$921.60	13.21	\$951.12
902.83-08	cable, 16 awg 2 conductor	450	LF	1.00	\$450.00	1.25	\$562.50	1.10	\$495.00	1.15	\$517.50	1.23	\$553.50
902.83-10	cable, 16 awg 5 conductor base, concrete	450	LF CY	1.30 1,500.00	\$585.00 \$1,500.00	1.31 3,187.58	\$589.50 \$3,187.58	1.15 2,800.00	\$517.50	1.20	\$540.00	1.32	\$594.00
			CΥ	1.500.00			3,3 187 58		\$2,800.00	2,980.00	\$2,980.00	3,080.00	\$3,080.00 \$10,707.62
902.91-00		I		.,		0,107.00		2,000.00			\$10,229,00		
902.91-00	Add Alternate B Bid Items Total				\$9,614.00	0,107.00	\$10,960.55	2,000.00	\$9,628.50		\$10,228.00		* • • , • • • • • •
902.91-00	Add Alternate B Bid Items Total				\$9,614.00	0,107.00	\$10,960.55	2,000.00	\$9,628.50				
902.91-00											\$10,228.00 \$1,442,824.45		
902.91-00	Add Alternate B Bid Items Total				\$9,614.00	0,107.00	\$10,960.55	2,000.00	\$9,628.50				
902.91-00	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION		SY	2.00	\$9,614.00	7.60	\$10,960.55	3.00	\$9,628.50	3.60		7.85	\$1,620,452.59
	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION Add Alternate C - Fiber Reinforcement in Sidewalks	COST	SY		\$9,614.00 \$1,162,795.00		\$10,960.55 \$1,285,280.77		\$9,628.50 \$1,387,667.75	3.60	\$1,442,824.45	7.85	\$1,620,452.59 \$36,628.10
	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION (Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete Add Alternate C Bid Items Total	COST 4,666			\$9,614.00 \$1,162,795.00 \$9,332.00 \$9,332.00		\$10,960.55 \$1,285,280.77 \$35,461.60 \$35,461.60		\$9,628.50 \$1,387,667.75 \$13,998.00 \$13,998.00	3.60	\$1,442,824.45 \$16,797.60 \$16,797.60	7.85	\$1,620,452.59 \$36,628.10 \$36,628.10
	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete	COST 4,666			\$9,614.00 \$1,162,795.00 \$9,332.00		\$10,960.55 \$1,285,280.77 \$35,461.60		\$9,628.50 \$1,387,667.75 \$13,998.00	3.60	\$1,442,824.45 \$16,797.60	7.85	\$1,620,452.59 \$36,628.10 \$36,628.10
	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION (Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete Add Alternate C Bid Items Total BASE BID + ALT A + ALT B + ALT C TOTAL CONSTRU	4,666	OST		\$9,614.00 \$1,162,795.00 \$9,332.00 \$9,332.00		\$10,960.55 \$1,285,280.77 \$35,461.60 \$35,461.60		\$9,628.50 \$1,387,667.75 \$13,998.00 \$13,998.00	3.60	\$1,442,824.45 \$16,797.60 \$16,797.60	7.85	\$1,620,452.59 \$36,628.10 \$36,628.10
502-99.11	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION (Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete Add Alternate C Bid Items Total BASE BID + ALT A + ALT B + ALT C TOTAL CONSTRU Add Alternate D - Longitudinal Steel Reinforcement ir	4,666	OST	2.00	\$9,614.00 \$1,162,795.00 \$9,332.00 \$9,332.00 \$1,172,127.00	7.60	\$10,960.55 \$1,285,280.77 \$35,461.60 \$35,461.60 \$1,320,742.37	3.00	\$9,628.50 \$1,387,667.75 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00		\$1,442,824.45 \$16,797.60 \$16,797.60 \$1,459,622.05		\$1,620,452.59 \$36,628.10 \$36,628.10 \$1,657,080.69
	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION (Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete Add Alternate C Bid Items Total BASE BID + ALT A + ALT B + ALT C TOTAL CONSTRU Add Alternate D - Longitudinal Steel Reinforcement ir Longitudinal Reinforcement	4,666	OST		\$9,614.00 \$1,162,795.00 \$9,332.00 \$9,332.00 \$1,172,127.00 \$23,330.00		\$10,960.55 \$1,285,280.77 \$35,461.60 \$35,461.60 \$1,320,742.37 \$41,574.06		\$9,628.50 \$1,387,667.75 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00	3.60	\$1,442,824.45 \$16,797.60 \$16,797.60 \$1,459,622.05 \$32,662.00	7.85	\$1,620,452.59 \$36,628.10 \$36,628.10 \$1,657,080.69 \$40,827.50
502-99.11	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION (Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete Add Alternate C Bid Items Total BASE BID + ALT A + ALT B + ALT C TOTAL CONSTRU Add Alternate D - Longitudinal Steel Reinforcement ir	4,666	OST	2.00	\$9,614.00 \$1,162,795.00 \$9,332.00 \$9,332.00 \$1,172,127.00	7.60	\$10,960.55 \$1,285,280.77 \$35,461.60 \$35,461.60 \$1,320,742.37	3.00	\$9,628.50 \$1,387,667.75 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00		\$1,442,824.45 \$16,797.60 \$16,797.60 \$1,459,622.05		\$1,620,452.59 \$36,628.10 \$36,628.10 \$1,657,080.69 \$40,827.50
502-99.11	Add Alternate B Bid Items Total BASE BID + ALT A + ALT B TOTAL CONSTRUCTION (Add Alternate C - Fiber Reinforcement in Sidewalks Misc. Macro-Synthetic Fiber Reinforced Concrete Add Alternate C Bid Items Total BASE BID + ALT A + ALT B + ALT C TOTAL CONSTRU Add Alternate D - Longitudinal Steel Reinforcement ir Longitudinal Reinforcement	2005T 4,666 JCTION Co 5idewalk 4,666	OST s SY	2.00	\$9,614.00 \$1,162,795.00 \$9,332.00 \$9,332.00 \$1,172,127.00 \$23,330.00	7.60	\$10,960.55 \$1,285,280.77 \$35,461.60 \$35,461.60 \$1,320,742.37 \$41,574.06	3.00	\$9,628.50 \$1,387,667.75 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00 \$13,998.00		\$1,442,824.45 \$16,797.60 \$16,797.60 \$1,459,622.05 \$32,662.00		\$1,620,452.59 \$36,628.10 \$36,628.10 \$1,657,080.69 \$40,827.50 \$40,827.50 \$40,827.50 \$40,827.50

Summary: Reclamite and Restorative seal are two key components of our annual street maintenance program. We have bid this segment early as we have a cooperative agreement set up on these bids and several Counties/Cities in the area complete their work off of our pricing. The prices are only up a few cents from last year and are inline with our anticipated budget. Staff recommends the acceptance and approval of these bids.

These particular products are a Tri-core exclusive product and they only provide it to one vendor in specific territories so there is no overlap. There are other products on the market that are similar, but don't come close to meet the specifications. We have had a presentation on the products in the past to explain how they work and why we don't get multiple bidders.

We frequently only get one bid on asphalt and microsurface as those commercial type operations tend not to overlap areas either. If any of our newer councilmen would like to have presentations on these products in the future to explain how they work, benefits and why we aren't getting multiple bids, let me know and I will arrange it.

Staff recommends accepting the bids for these and approving them.

- **Recommended** Direct staff to bring forward to the regular City Council meeting on April 6, **Action:** 2020 for final approval.
 - Fund Name: N/A
- Account Number: N/A
- Available Budget \$: N/A

ATTACHMENTS:		Roll Call	Aye	Nay
Memo Staff Report Correspondence Bid Tabulation	Council Minutes Proposed Ordinance Proposed Resolution Attorney's Report	Mayor M S Jeffrey Council Member		
 P/C Recommendation P/C Minutes Application Citizen Consultant Report 	Petition Contract Budget Amendment Legal Notice Other	M S Brubaker M S Kimmons M S Davis M S Kyser	Passed	Failed

CITY OF MOBERLY

"BID OPENING"

Date: 3-9-2020

Corrective Asphalt Materials	<u>Sweeping</u> 1044 "1 "
	s <u>s_Restorative Seal 1-27 per 59.90</u> Add on Resident -020 4 1. 4 Not: Fications <u>s</u>
	\$
	\$ \$
	\$\$
	\$\$
	\$\$

Agenda Item: A Resolution repealing R863 and passing a new resolution related to the purchase of patrol vehicles for the Police Department

Summary:

Resolution R863 was passed by the Moberly City Council on November 4, 2020 accepting the bid of Moberly Motors and authorized the purchase of two 2020 Dodge Charger AWD V-8 police package 4-door sedans for the police department. Due to more orders being received than the production run could produce, our order was refused by Ford Motor Company. Moberly Motors began looking for new or used 2019 Dodge Chargers AWD V-8 Police Package vehicles. One was found in New York but was not AWD, but due to the difficulty in finding suitable vehicles, it was purchased. Moberly Motors was unable to purchase a second charger as prices for these vehicles continued to rise due to the shortage. Moberly Motors was able to locate a Dodge Durango Pursuit SUV, which is police package and was able to purchase it for the Police Department. At present the purchase price of the two vehicles is 2,359.95 dollars more than what was authorized in R863. The new purchase price is 56,249.95 dollars

Recommended Action: Direct staff to bring to council for approval

Fund Name:

Account Number:

Available Budget \$:

ATTACHMENTS:		Roll Call	Ауе	Nay
Memo Staff Report Correspondence	Council Minutes Proposed Ordinance Proposed Resolution	Mayor M S Jeffrey		
Bid Tabulation P/C Recommendation P/C Minutes	Attorney's Report Petition Contract	Council Member MSBrubaker MS_Kimmons		
Application	Budget Amendment	M S Riminons M S Davis		

 Citizen
 Consultant Report

__ Legal Notice __Other____

Passed Failed

ATTACHMENTS:		Role Call	Aye Nay
Memo	Council Minutes	Mayor	
Staff Report	<u>x</u> Proposed Ordinance	MS Jeffrey	
Correspondence	Proposed Resolution		
Bid Tabulation	Attorney's Report	Council Member	
		<u> </u>	

BILL NO: <u>*R863*</u>

RESOLUTION NO: R863

A RESOLUTION ACCEPTING THE BID OF MOBERLY MOTORS FOR TWO 2020 DODGE CHARGER POLICE PACKAGE SEDANS AND AUTHORIZING THE PURCHASE FOR \$53,890.00.

WHEREAS, the Moberly Police Department requested bids from four automobile dealers for new patrol cars and received one bid from Moberly Motors for two new 2020 Dodge Charger, V-8, all-wheel drive police sedans for \$25,165.00 each and \$1,780.00 each for 2 AYE Patrol Packages; and

WHEREAS, no state bid price for 2020 Dodges is currently available; and

WHEREAS, the Moberly Police Department recommends acceptance of the Moberly Motors bid and authority to immediately purchase the new police vehicles.

THEREFORE, the Moberly, Missouri, City Council accepts the bid of Moberly Motors and authorizes the City Manager or his designee to purchase the Dodge Charger police package sedans for the total price of \$53,890.00.

RESOLVED this 4th day of November, 2019, by the Council of the City of Moberly, Missouri.

Presiding Officer at Meeting

ATTEST:

DK Halloway

City Clerk

City of Moberly City Council Agenda Summary

- Agenda Item: Discussion of water meter technology and automated reading equipment availability and costs.
 - **Summary:** ESP has been working with their subcontractor who is responsible for the meter procurement and installation of equipment regarding the availability of reading equipment (transponders) and other issues. City staff have reviewed residential meter technology from a different vendor other than Master Meter. A memorandum is being developed and ESP will be here Monday evening to discuss the recommended changes including pricing.
- **Recommended** This is for informational purposes to allow Council input on the decision for **Action:** equipment selection.
 - Fund Name: N/A
- Account Number: N/A
- Available Budget \$: N/A

ATTACHMENTS:		Roll Call	Aye	Nay
Memo Staff Report Correspondence _x_ Bid Tabulation	Council Minutes Proposed Ordinance Proposed Resolution Attorney's Report	Mayor M S Jeffrey Council Member		_
P/C Recommendation P/C Minutes Application Citizen Consultant Report	Petition Contract Budget Amendment Legal Notice Other	M S Brubaker M S Kimmons M S Davis M SKyser	Passed	Failed

Agenda Item: Receipt of bids for pickup for Water D&C.

- **Summary:** The City of Moberly advertised for bids for a new truck and bids were opened March 4th, 2020 at 10:00 am. Two bids were received from Moberly Motors one in the amount of \$31,074 and another in the amount of \$31,382 and one bid was received from W-K Ford in the amount of \$30,813.28. It is the staff's recommendation to proceed with purchase of the 2020 Ford F150 4X4 Crew Cab Pickup-XL trim level from Moberly Motors for \$31,382.
- Recommended Direct staff to bring forward to the regular City Council meeting on April 6,Action: 2020 for final approval.
 - Fund Name: N/A
- Account Number: N/A
- Available Budget \$: N/A

ATTACHMENTS:		Roll Call	Aye	Nay
Memo Staff Report Correspondence Bid Tabulation	Council Minutes Proposed Ordinance Proposed Resolution Attorney's Report	Mayor M S Jeffrey Council Member		
 P/C Recommendation P/C Minutes Application Citizen Consultant Report 	Petition Contract Budget Amendment Legal Notice Other	MSBrubaker MSKimmons MSDavis MSKyser	Passed	Failed

CITY OF MOBERLY 2020 Ford F150, Crew Cab, 4X4 "BID OPENING" Sign-In Sheet

Date: March 4, 2020, 10:00AM

Name **Company** City of Moberly Shannon Hance City of Muberly Bennett 190

1 New 2020 Vehicles Opening Bid Sheet

New 2020 Ford F150, Crew Cab, 4X4	\$ 31,074
Dealer Name Mober 14 Motors	
/	F150 4X4 Crew Cab Pickup XLtrim leve
New 2020 Ford F150, Crew Cab, 4X4	\$ 31.382
Dealer Name MODENLY MOTORS	
Brand Names & Model 2000 Ford	F150 4x4 Crew (ab Pickup - XL Trim
New 2020 Ford F150, Crew Cab, 4X4	\$ 30,813.28
Dealer Name W-K	
Brand Names & Model 2020 Ford F	150, CVPIN (ab, 4×4 (Large Door) XLT nm
New 2020 Ford F150, Crew Cab, 4X4	\$
Dealer Name	
Brand Names & Model	

Briven by tradition.

moberly motors

February 27, 2020

City of Moberly 101 West Reed Moberly, Mo 65270

RE: Bid for (1) 2020 Ford F150 Crew Cab 4X4 Pickup - (1/2) Ton

Moberly Motor Company would like to submit the following bid specifications and pricing for your consideration.

2020 Ford F150 4X4 Crew Cab Pickup - XL Trim Level

W1E - 4 Wheel Drive 995 - 5.0L V8 Engine XL6 - 3.73 Electric Lock Rear Axle 101A Pkg - XL Trim Series YZ - White Exterior Color Factory Air Conditioner 50S - Factory Cruise Control Power Steering AM/FM Radio Black Vinyl Floor Covering 3 year / 36,000 mile warranty 67T – Trailer Brake Controller Front Tow Hooks Painted Front & Rear Bumpers Dr & Pass Air Bag System 17" Silver Steel Wheels 53B - Class IV trailer hitch receiver Max 6,000 lb Capacity 4-pin/7-pin wiring harness Smart Trailer Tow Connector

145" wheelbase - 5.5 ft Box

44G - 10-Speed Automatic Transmission 7,000# GVWR \$10.00 Gasoline Power Brakes 4-Wheel Disc w/ABS Pickup Bed Cargo Light Ford SYNC Communications Sys Tilt Steering Column WG - 40/Console/40 Front Bucket Seat - Gray Cloth Manual-folding, Power Glass Side view Mirrors (5) 265/70R 17 OWL All-terrain A/T tires 17" Silver Steel Wheels XL Power Equipment Group (Incl w/101A) Power Windows - Power Door Locks with Flip Key and Integrated Key Transmitter keyless-entry (includes Autolock), Power Tailgate Lock, Perimeter Alarm, Illuminated Entry, Mirrors Manual-folding, Power Glass

(1) 2020 F150 Crew Cab 4X4

\$31,074

Amount Due at Time of Delivery – Check – No Credit Cards

Optional for your consideration :

EINCOLN CHRYSLER JCCP DODG

1520 North Morley, P.O. Box 249, Moberly, MO 65270

T (660) 263.6000 | T (800) 798.6006 | F (660) 263.1871 | ford@moberlymotors.com | www.moberlymotors.com

\$732 extra

53A - Trailer Tow Package Max 11,300 lb Capacity Class IV trailer hitch receiver 4-pin/7-pin wiring harness Smart Trailer Tow Connector Engine Oil Cooler Pro Trailer Backup Assist Tailgate LED Upgraded front stabilizer bar

53C – MAX Trailer Tow Package Max 13,200 lb Capacity Requires 944 - 3.5 Eco-Boost Engine XL9 – 3.55 Electric Lock Rear Axle Class IV trailer hitch receiver 4-pin/7-pin wiring harness Smart Trailer Tow Connector Engine Oil Cooler Pro Trailer Backup Assist Tailgate LED Upgraded front stabilizer bar 655 - 36 Gallon Fuel Tank 67T - Integrated Brake Controller Upgraded Rear Bumper

T7C - (5) LT245/70R 17E BSW <u>10-Ply</u> A/T tires

Thank You for the opportunity to give you pricing on the above unit. Please let me know how you would like me to proceed from this point. Warranty is 3 year / 36,000 mile plus Power Train 5 year / 60,000 miles. Build date will be as soon as possible by the manufacture.

Sincerely,

Dean Miller I Moberly Motor Company

\$799 extra

\$260 extra

CITY OF MOBERLY, MISSOURI

BID FORM

Bid Due Date: March 4, 2020 at 10:00am

The City of Moberly is requesting a Bid Quotations for:

New 2020 Ford F150, Crew Cab, 4X4 (Large Door) XL Trim

\$ <u>31,074</u> <u>145</u> "WB 5.5 ft Box

Dealer Name: Moberly Motor Company

Brand Name & Model:	2020 Ford F150 4X4 Crew Cab
	d And
A with a wine of Signatures	Can all
Authorized Signature:	Celly - 40 s

Delivery Date: _____As soon as possible from the manufacture production

Bid submission deadline 10:00 a.m. Wednesday, March 4, 2020, to City Clerk's Office, Moberly City Hall, 101 West Reed Street, Moberly, Missouri 65270.

City of Moberly is requesting quotes on a 2020 Ford F150, Crew Cab, 4x4 (Large Door) XL trim

Color (White)

5.0 V8 Engine

Automatic 6 Speed Transmission

Limited Slip Axle (3.73)

145" Wheelbase

6'5" Bed

4 Wheel ABS Brakes

265/70/17 All Terrain Tires + Spare

Power Steering

Heating/Air Conditioning

AM/FM Radio

Speed Control/Tilt Wheel

Power Windows/Power Locks

(Grey) Cloth Bucket Seat w/Center Console, Rear cloth bench

Vinyl flooring

Tow Package

Trailer Brake Controller

*Quote due by 10 AM 3/4/2020

Mail to: City of Moberly Att: Tim Patrick Contact Number 660-998-0127

101 West Reed St.

Moberly, Mo 65270

CITY OF MOBERLY, MISSOURI

BID FORM

Bid Due Date: March 4, 2020 at 10:00am

The City of Moberly is requesting a Bid Quotations for:

New 2020 Ford F150, Crew Cab, 4X4 (Large Door) XL Trim

\$ 30,813.28

Dealer Name: W-IC FOR
Brand Name & Model: FORD F-150
Authorized Signature:
Delivery Date: 6-8 WEDES YOUN BUD ACCEPTONCE

Bid submission deadline 10:00 a.m. Wednesday, March 4, 2020, to City Clerk's Office, Moberly City Hall, 101 West Reed Street, Moberly, Missouri 65270.



City of Moberly -

Due Date:

4-Mar-20

	2020 F-150 4x4 Crew Cab	Base Price
		\$40,140.00
Code	Description	Option Price
995	5.0L V-8	\$1,995.00
44G	10-SPEED AUTOMATIC TRANSMISSION	STD
53A	TRAILER TOW PACKAGE	\$595.00
w	CLOTH BUCKET SEATS	\$295.00
XL6	3.73 ELECTRIC LOCKING DIFF	\$570.00
50S	CRUISE CONTROL	\$225.00
67T	TRAILER BRAKE CONTROLLER	\$275.00
85A	POWER EQUIPMENT GROUP - WINDOWS & LOCKS	\$1,170.00
	W-K FORD BID DELIVERED PRICE	\$30,813.28

* Thank you for your consideration the W-K Family of Dealerships for your vehicle needs.

If Bid Is Accepted The Vehicle Will Be Ready:	6-8 WEEKS UPON BID ACCEPTANCE.
heauy.	

Х General Sales Manager Approves Bid

Driven by tradition.

moberly motors

February 27, 2020

City of Moberly 101 West Reed Moberly, Mo 65270

RE: Bid for (1) 2020 Ford F150 Crew Cab 4X4 Pickup - (1/2) Ton

Moberly Motor Company would like to submit the following bid specifications and pricing for your consideration.

2020 Ford F150 4X4 Crew Cab Pickup - XL Trim Level

W1E - 4 Wheel Drive 995 – 5.0L V8 Engine **XL6** - 3.73 Electric Lock Rear Axle 101A Pkg - XL Trim Series YZ - White Exterior Color Factory Air Conditioner 50S - Factory Cruise Control Power Steering AM/FM Radio Black Vinyl Floor Covering 3 year / 36,000 mile warranty 67T – Trailer Brake Controller Front Tow Hooks Painted Front & Rear Bumpers Dr & Pass Air Bag System 17" Silver Steel Wheels 53B - Class IV trailer hitch receiver Max 6,000 lb Capacity 4-pin/7-pin wiring harness Smart Trailer Tow Connector

157" wheelbase - 6.5 ft Box

44G - 10-Speed Automatic Transmission 7,000# GVWR \$10.00 Gasoline Power Brakes 4-Wheel Disc w/ABS Pickup Bed Cargo Light Ford SYNC Communications Sys Tilt Steering Column WG-40/Console/40 Front Bucket Seat-Gray Cloth Manual-folding, Power Glass Side view Mirrors (5) 265/70R 17 OWL All-terrain A/T tires 17" Silver Steel Wheels XL Power Equipment Group (Incl w/101A) Power Windows - Power Door Locks with Flip Key and Integrated Key Transmitter keyless-entry (includes Autolock), Power Tailgate Lock, Perimeter Alarm, Illuminated Entry, Mirrors Manual-folding, Power Glass

(1) - 2020 F150 Crew Cab 4X4 <u>\$31,382</u> Amount Due at Time of Delivery – Check – No Credit Cards

Optional for your consideration :

ER LINCOLN CHRYSLER Jeep DODGE S

1520 North Morley, P.O. Box 249, Moberly, MO 65270

T (660) 263.6000 | T (800) 798.6006 | F (660) 263.1871 | ford@moberlymotors.com | www.moberlymotors.com

\$732 extra

53A - Trailer Tow Package Max 11,300 lb Capacity Class IV trailer hitch receiver 4-pin/7-pin wiring harness Smart Trailer Tow Connector Engine Oil Cooler Pro Trailer Backup Assist Tailgate LED Upgraded front stabilizer bar

53C – MAX Trailer Tow Package Max 13,200 lb Capacity Requires 944 - 3.5 Eco-Boost Engine XL9 – 3.55 Electric Lock Rear Axle Class IV trailer hitch receiver 4-pin/7-pin wiring harness Smart Trailer Tow Connector Engine Oil Cooler Pro Trailer Backup Assist Tailgate LED Upgraded front stabilizer bar 655 - 36 Gallon Fuel Tank 67T - Integrated Brake Controller Upgraded Rear Bumper

T7C - (5) LT245/70R 17E BSW <u>10-Ply</u> A/T tires

Thank You for the opportunity to give you pricing on the above unit. Please let me know how you would like me to proceed from this point. Warranty is 3 year / 36,000 mile plus Power Train 5 year / 60,000 miles. Build date will be as soon as possible by the manufacture.

alor Sincerely.

Dean Miller Moberly Motor Company

\$799 extra

\$260 extra

CITY OF MOBERLY, MISSOURI

BID FORM

Bid Due Date: March 4, 2020 at 10:00am

The City of Moberly is requesting a Bid Quotations for:

New 2020 Ford F150, Crew Cab, 4X4 (Large Door) XL Trim

\$ 31,382 157" WB 6.5 Ft Box

Dealer Name: <u>Moberly Motor Company</u>

Brand Name & Model:	2020 Ford F150 4X4 Crew Cab
	\bigcap
Authorized Signature:	Ca Alle

Delivery Date: as soon as possible from the manufacture production

Bid submission deadline 10:00 a.m. Wednesday, March 4, 2020, to City Clerk's Office, Moberly City Hall, 101 West Reed Street, Moberly, Missouri 65270.

City of Moberly is requesting quotes on a 2020 Ford F150, Crew Cab, 4x4 (Large Door) XL trim

Color (White)

5.0 V8 Engine

Automatic 6 Speed Transmission

Limited Slip Axle (3.73)

145" Wheelbase

6'5" Bed

4 Wheel ABS Brakes

265/70/17 All Terrain Tires + Spare

Power Steering

Heating/Air Conditioning

AM/FM Radio

Speed Control/Tilt Wheel

Power Windows/Power Locks

(Grey) Cloth Bucket Seat w/Center Console, Rear cloth bench

Vinyl flooring

Tow Package

Trailer Brake Controller

*Quote due by 10 AM 3/4/2020 Mail to: City of Moberly Att: Tim Patrick Contact Number 660-998-0127

1

101 West Reed St.

Moberly, Mo 65270